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Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058081, R1 1s transitive but R, is not transitive

7155058082, R2 1s transitive but Ry is not transitive

7155058083, Both R and R, are transitive

7155058084, Neither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505159
Yes

null



Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-2 —-"-\\A-ﬁ-f — Y et e,y e el

(a, b) R, (c, d) ad —bc >0 =50

(a,D)R,(c,d) a+d=2b +c =0T Q000 W TR.AADT, &N
o

Options :
7155058082 R, To@Fmon0ET, B0 R, momsmmnig)hy

7155058084, Rl =R TSN Rz =Snd oD TaoNd

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( 30 80 32
Let o and P be the roots of x* — 3x +9 = 0. Then | B 7+ = = is equal to
(0™ (9p) |

Options:
7155058085. 1

|
7155058086. Y

7155058087. 3



7155058088. 9

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e e -

= 2 - S N [ — - 2 -
AW PNW -3 19 =0 0NIND TR WiD, RONTINTY. &
=L E

( n30 A
! Bm"'mmi O &
(02 (9p)7 )
Options :

7155058085. 1

|
7155058086. 9
7155058087. 3

7155058088. 9

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For z =2 + 5i, the modulus of 273+ 2122 58z +4is:

Options :

7155058089. 1153

7155058090. 947



7155058091. 337

7155058092, 837

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

! Lt f - -.:' ™ — s —, ,.."
z=2+5171 22°+217°-58z +4 T IRIB.SReD
(-

Options :

7155058089. 1153
7155058090. 947
7155058091. 537

7155058092, 837

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455

: ; ; 5
has infinitely many solutions, then K- is

Options :



7155058093. 27

I_|h|,|_

7155058094.
7155058095. 9

7155058096. 3

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Aﬁ'—ﬁyhﬁ: =7

Gx+43y=2z=\11

30x +(3W15 - 5v6) y +(5V15 - 3v10)z = 521 43455
DO AeTTENY 235235 03 9BV BOTITNFR), BRODBI K =
Options :

7155058093. 27

I-.H"l_

7155058094.

7155058095. 9

7155058096. 3

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_‘“'n: 0) 1 0)

For o, p € £, if the matrices A= o ] satisfy the equation
] ),

(A%B)#2I =201, where # is detmed as A%B=A"+ B, then | af| is equal to :
Options :

7155058097.2xﬁ§

7155058098, 2v/2
7155058099, 4

7155058100. 2

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
‘a 0) ‘@ 0). (1 0)

- | | | - = . 2 2 s,
o P,eRN A= ,B= = FASD Erjﬂ'?& % O A%B=A“+B* 20
0p) 0o (01 g
TOATVAROL BADETTR (A * B) % 21=201 &=, 3 LRRPATT | of 0D LSO :
] O G B =, (=} . |
Options :

7155058097.2\ﬁ§
7155058098, 2v/2
7155058099, 4

7155058100. 2



Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. R 1
The sum of the first eleven terms of the series is ———5+ — +
1+17+1 1+2°42 1+3° 43

Options :

7155058101. 133

7155058102. 133

16

7155058103, 33

33
7155058104, 67

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e 1 2 3 g R T
UE?E: ] 4 LR ] 4‘ + ] T e :\J: u\:".- L\J\-" J.]. I\.-«-JII U'JU \;“'-ﬁ\:-": :

7155058101. 133

66
7155058102. 133

16

7155058103, 33



33
7155058104, 67

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2

lim(1+3x) * s equal to

x—0

Options :

7155058105. €

7155058106. &°

7155058107. e°

7155058108. e°

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+2

Em(1+4+3x) * =

x—0

Options :

7155058105. €

7155058106. &°

7155058107. e°



7155058108. e°

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nE : : s A, g X=d P=ld 2=l ;.
Let P(a.p, A]be the image of the point Q(1,2.0) in the line G =5 ,then (PQ) 1s

equal to
Options :

7155058109. 90
7155058110. 180
7155058111. 360

7155058112, 270

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QUJﬂ)@OKDﬁJx;5=y]lz=z;uj@Omﬁﬁﬁﬂﬁaﬁwjphlﬁgﬂ3&E0$O$aﬂU@.

57 (PQ)* =
Options :

7155058109. 90

7155058110. 180



7155058111. 360

7155058112, 270

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058113. 8820
7155058114, 10584
7155058115. 1764

7155058116. 3515

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,00 Be3,0d 7 Fom) 23, 9 2P FOBINYR, BRODR. HTTE). FIA, LT
BFORIMNY) OB 20 NP NG, 8 tFORINE, TRTINOME JGNY
ﬁ()@j‘so\b\} :

Options :

7155058113. 8820



7155058114, 10584
7155058115. 1764

7155058116, 3515

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

' - " -~ 1— - '
Let [t] denote the greatest integer function. If [[1+:7++*[dr=g, then 364 -254" +84° -4 1s equal to
I _

Options:

7155058117. 19
7155058118, —19
7155058119. 18

7155058120. —21

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
2 1_ =
[1] 3,230 NOR, T3pTF0F 603, 3,20NTO. 2,00 8XF [[142 424 ax=a, €3BT,
I |
36a-250" 84" - ' © AISIONN
Options:

7155058117. 19



7155058118. —19
7155058119. 18

7155058120. —21

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058121, ~2
7155058122. 2
7155058123, 22

7155058124, 4

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PL =8 230N%) ah3) QM =2 @3N%) YT IR Aeiw030 Tt D0RNY), PM
23), QL 3am0RNF, R eowe) 6O, PLah3), QM 1igh, PQR 20
20T BDROT B BANTIE 23,37 A JETNYITT, €3 83,373 3255

Options:

7155058121, ~2



7155058122, 2

7155058123, 242

7155058124, 4

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /j: 9x + 7y + 0 =0, then the centroid of APQR moves on the line /, which is

: 20 i b B : ‘ :
parallel to /; at a distance —— units from it. If the distance of Q from /; is X thenkis

WI130 3,130

equal to ;
Options :

7155058125, 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢ €N, PQR DI PR, 533 Qlo, Al1) 47 Fonnenss humndd. R
: - -

ocr o — — _‘.f'

RO Tes fl Ox+Tv+a=03 et BORETT 8n APQRT ™t

—‘_——- - — — = [ — I—".'A;_-\' — "'...'.
DRTNDIN B 90T ANROTTIRNWD T 1, wded
o)

(|08 —— TRIT®
WI3

Options :
7155058125, 117

7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A{x;, v;), 1= 1,2,3 be points on the circle 12+ y*= 10 such that Ay lies in the 1% quadrant and it
is the image of point A, with respect to y-axis. If the distance of point A; from each of the points

A, and A; 1s 2, then twenty times the area of the A Ay Ay Az is
Options :

7155058129. 12

7155058130. 30

7155058131. 24

7155058132. 48



Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ay 3, =123 0 x*+)* =103 33 LOTONGRN, A SRTL UBRFFETYD MW 0w
J-93TY A, LODIT TSFOTRNT R0QTY. 4 N, A3 ATRER WOWNTOT Ar 7l
W BRTH 28NTT,  AA, A, A, 0D QAEFT 20 T, TR WECD

Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132, 48

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 is
Options :

7155058133. 3

7155058134, 7

7155058135, 9

7155058136. 11



Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
757 By, 15 DOT N Aen 220)e3 3eRad):
Options :

7155058133. 5
7155058134, 7
7155058135, 9

7155058136. 11

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ax — Bz + v passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=land3x-2y+2z=0,thena+f+yisequalto:

Options:
7155058137. 3
7155058138. 13

7155058139. 19

7155058140. 27

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(1,-1,3) WO MRVT Tl DRC

— bt A chTa i Fat Abwrtatatel tat = gt s
-2 +2z=0AWELNIN OVOWWNTT 8T at+Pf+ya WOOW :

Options :

7155058137. 5
7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

> M A M

2 N M M =¥ P Y . M c o
Let a=1+427+3k, b=1—j+2k c=2i+j—4k be three vectors. If 7 is the vector such that

sgeining fiaa gl g — |:_’ = — . A A

rXa= b+c|xa and r+ b—c|=0  then r-(j+,i—k) isequal to:
\ J X J )

Options :

7155058141, 3

7155058142, 4

7155058143. 5

7155058144, 6



Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR o o i - = :f’_} —>\‘|. -
—j+2k, c=2i+i- i 0N MR ZOTNLTY. rxa=|b+c |xa V]

/

ro| b-c|=0  SATTE; 0D 20T FOTWNGT, 87 7+ (;+J k) 3 g
| 'w'

Options:

7155058141. 3
7155058142, 4
7155058143, 5

7155058144. 6

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 12 4.4 £18.= 0 satisfies the

equation x'=1,1s
Options :
7155058145. 0

7155058146. 59

3
7155058147. 59



7
7155058148, 118

Question Number : 17 Question Id : 7155052585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1’ =1 ADETORRW, S INEND [=x+pi4 44118
- £= o

- 2 J
mﬁf‘@w .erw.wJ 'TJC:'\: Jwau \.L:G :

- = dm = 0]
=) ReREBORQ0T ARG LUA N

b

—

'L’;

Options:

7155058145. 0

7155058146. 59
£

7155058147. 59

7155058148, 118

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean 1s 3 and variance is 2, then P(X < 3) is

equal to

Options:

7155058149. 3

7155058150. 3



163
7155058151, 3°

835
7155058152, 3°

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- — ! - _.-g'- — —"Ar' ':‘-I f — al \—'- 5 '_.'.'

X0 Bp)d QRT DOWHCIPNTY. LO0W =[eY ATRO I W) 7,8 2 #NTT,
' e

n

4

Options :

- ﬁ-':O:C.F\I'!‘\‘\ i
] o i

P(X <

29x 28
7155058149, 37

25% 27

7155058150.  3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. b
: . . Al T =3x+2] .
The domain of the function f(x)=cos ™| —— " | is:
Seemy il aet )

Options :



7155058153. *

i

_’33'

7155058154, [5 J
A _ _ |
7155058155, -~ (=42 = L. 2 — 1]

7155058156, (—o=.—1—+2) L (2 = 1.59)

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(x2—3x+2)

f)=cos | "= | 0BT,B 863 :

2 !t _*x"_,_zx_lj [ b —

(ul

Options :

| 2—1,%}
7155058153, \ 5

i
7155058154, [5’ ),

7155058155, -~ =42 = L. 2 — 1]

7155058156, (—o=.— 1—+2) 1w (2 = 1.59)

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?



Options :
7155058157. ((p = @)V p) = ¢

7155058158, ((P A q) = p) = q
7155058159, ((P A Q) A{~q)) = p

7155058160, ((P=a) V p)=p

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FENT 03T JEPINYL A IXINTeNT ?
Options :

7155058157. (P = @)V p) = g

7155058158. (P A Q) = p) = ¢

7155058159, ((p A Q) A{~q)) = p

7155058160. ((P=aQ) V p)=p

Mathematics Section B

Section Id : 715505160
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505160
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
n, where m and n are coprime, then m + n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

y=x2+ 1 0% BT v+ /=3 T3y = -1 QO WIHNP O, 300 )AL EDF R, m
0 (9¢). mad3), n e ABCIN,MEH) T eJeNATT, m+n & 2e3oin :

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-;-:':' 0 — T T, —E‘ .——n:-?. T — o —
D¢ WRHFOW EJ.A; 2,000 1N .».Lx..x, NTwoN u.C«.«:L ww.f}rﬂvl Beldy <000
== L A U 0]
-;::—5‘—5 e - —ﬂ £ - :r_u i Ty om B -‘-l o o, '!-'l 5, —n —
RITNTW, WVEOLL 12 Nplaly non 30 wone 0edod TMNYRW, WEOALTITT
=y =y =y

T, w2 o
wilai 'i JO-.J

(=]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15
. 12 .
Let (14+x*—x*) =3 a,x™ Then ag+ap+ay+...+ agy is equal to
' n=1{

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
48
=2 anx" Ty tagtotay =
n=0

[_1+x2—x4-]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— Sy is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S5n 00T T+10+16+25+37+.., 30800 IRTO nITNG BT RRWATT, &1
S30—Syp O

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f (x]:[x+x3}+‘x—x3‘+ is not differentiable in the open interval (~10, 10), is

1
v+ —
2

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

— =
3 /

[t] 00 ROR TRFFOT < t 0T RRWITT SN (10, 10) 3TT ©03TYT
o

el

3

2 I 3| 1 gy O el o ol £ e e o e, e PR
_f(x]—[:wx }-r‘x—x ‘+x+; PBRR JRR,NRIOWR WOTING F0L,03W
2 = W= % U

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ifj dx _ |
Bt +5) 102 +7 V380

log, | /(x)[+C where C is an arbitrary constant, then f(0) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i ] .
2 -f I - — o lngﬁl\/{ (f}|+tf_ﬁm}ﬁ {{aecjlr C ﬁ:}(:}&}\jﬁj\} ﬁd r%ﬁ@@ﬁ.’) Jr[“] =
(Bx"+5)410x°+7 V380 -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5), (1, —1) and eccentricity /3 be

=2y +ax+by+c=0. Then|a+b+c|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1,5), (1, -1) Torea, 3 deons |5 BRONMT SITITOLT FeF0res e
Ej‘z—ax—bp—ﬁl]. ‘:m&u la+b+c| 00 ©ECW ¢

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let 0y, o be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, oy, 0),

(e,

unit-.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i oy pedadg oy Tl oy
0y, Oy nw al LQIW_‘J‘IM 20 (2,4, 3’) “x:?C W@ xtytezt10=0Rkn QRO
= s — (164 | ) o ;oo WETI VRN A
35 MROBRONTOATY. SN (a ) @, 0), ), 0)z0E |—=, 50| 2ONNFCT0 SLX%0
1 1,0 | 50( T .
- — -—— - — -
Rk P00 DROBRING.

-.-\J"'\J ALl



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator :

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

" st J n N Mns fi Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-51+7j-3k and o¢= ,; represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey s e mn T e — i '; ';I\

d\d\ A 4 .J\ n
o G G0 m.)ul.w\-.fwdvi.-ﬂvrl T‘QJ DA —3?-‘-??4‘ _I. OB —5 +?‘ _Sk c """:P O[::u

— . N T T ey )
H‘j\e "‘JW\J-'VN-JU W“J\.-E'\.’ W ﬁEMH“;“w -"‘hvw"‘q’w ﬁa;ﬂ 1] Q3R .Uf IV H&EW‘L“;{N W3
'u' i - ¥l
T = —_— A '“-r' =" f AL Tat et
AOTND. Zww03T T BERD) om;t 0D T V%, Doxdy) 2 ﬂwu an LU0

Response Type : Numeric

Evaluation Required For SA : Yes

None

None



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
X+y=2 dy _X+y+2

[f the solution curve of the differential equation X+ >2 passes through the

x+y-1 dx x+y+l

i | B
a +da+2

points (JE.JE | and (2.a), then 2a~log, is equal to

L 6
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x+y=2 dy _X+y+2

X+)>2 Q0L QaIFOR AeNFTHT BOBOT 3T (v2,42)

x+y=-1 dx x+y+l

3, (2.4), WORNY 2heOT TR BRRT 2a - I(}gc‘(#w 3 2363030

/

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Aptitude Test
Section Id : 715505161
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505161
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155058171, Lype of cement



7155058172, Lype of floor finish

7155058173, Lype of paint

7155058174, Lype of Brick

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
S TENOIYNEN)

Options :
7155058171. 2000 @Cﬁﬁj ATNOEF

7155058172, SOTIAD AT IO )P
7155058173, THOE3T I3

7155058174, BT eI

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below



Options :

7155058175. Both Statement I and Statement II are correct

7155058176. Both Statement I and Statement IT are incorrect

7155058177. Statement I is correct but statement IT is incorrect

7155058178. Statement I is incorrect but statement II is correct

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
& 397 0R) BTN, BRNE.

BEPF1 B0RIR) 0,303, (0IR FFsh oletuTewn, Irdaeis,
BODLIN : FORCTIR Jrida) A, 7-F00F aem), 30, Toa %, O TULFACHT WR00R e egne 83,
i BeLFNYR, MahedA, T BT e0d,nee), e93;02 Zegmendia et ol Hnb.

Options :
7155058175, ZLFT | a3, WEPT Il TR RDOImNES

7155058176. meETE | ﬁ\}ﬁ:_:: P || enCrEue 3eta Nad

7155058177, ®LPT | ADOIRNG 030 @9 1| Sz0e,NE3

7155058178, ®E¥T | Se0e, NG 3000 DEFT 11 RDOIRNE

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements;

Statement I ; Glass has low thermal conductivity

Statement II : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below

Options :

7155058179. Both Statement I and Statement II are correct

7155058180. Both Statement I and Statement IT are incorrect

7155058181. Statement I is correct but statement II is incorrect

7155058182. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
8 591 0 BELTNY, BTN,

BPF: M 3hch R T3 BRODE.
BDFI: M7 B¥ER, HoROR, BEFOS SRBLOR H3) TEhEemen DEROR.

st BwePFnY

e,

Meedd, T eRtha esch,niee) e3;03 Je%mencHe evdduh, esah, siwi.
Options :

7155058179, Zt¥F | eh3), WELT || TR RDOIRNE

7155058180, ™EFTF | e, DWEPTF 1| 0TE/ See,Ned

7155058181. LT | ADCIRNE 90 DELT | Emﬂﬁaf

7155058182, 2t¥F | 309, NI 3030 &ELTF | ZDCIRNG



Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST IT
A PMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY II. JAN DHAN YOJANA
C. PMEVY II1. [UITWALA YOJANA
D. [PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058183, A-L B-1IL C-IL D-IV

7155058184, A-IIL, B-IV, C-1, D-II

7155058185, A-IV, B-II, C-III, D-I

7155058186. A-IV, B-III, C-I, D-II

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
:E3, — 10 a3 R, - 1T 90y, BRODA.

=83, 1 B8, 11
A PMUY L. [F°3ey; dsoa clettne
B. [PMAY IL Jase® 3o O3uetasm0
C. PMEVY 1M1 Jenzs 259 03etzsaie
D. PMIDY IV. [esayo=® cdetesae




7155058183. A-L, B-III, C-II, D-IV

7155058184, A-III, B-IV, C-I, D-II

7155058185. A-IV, B-II, C-III, D-I

7155058186, A-IV. B-III, C-I, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |CP Kukreja [. IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehm University
C. |B.V Doshi I11. [IIT Kanpur
D. |Achvut Kanvinde| IV. [I[IM Bengaluru

Choose the correct answer from the options given below:
Options :

7155058187, A-IV. B-1I, C-1. D-III

7155058188, A-III, B-1. C-II, D-IV

7155058189, A-II, B-1, C-IV, D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
:E3, — 10 a3 R, - 1T 90y, BRODA.

=6, 1 =&, 11

A A& BTl I M &% a0e LIl

B. lopdhaw | ma| I [xenmTrener SH0e 0RREAE €3
C. |20 055083 I [T 93,0

D.

E92R):3° T, 003 IV. [IM 5orslet

FU Jetathes escd, Y. Abodes endUad, e, st
Options :
7155058187. A-IV. B-II, C-1, D-III

7155058188, A-III, B-1. C-II, D-IV

7155058189. A-1I, B-1, C-IV. D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a complimentary colour?

Options :
7155058191, Blue-Orange

7155058192. Red-Green

7155058193, Blue-Green

7155058194, Violet-Yellow



Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FENTHNF ). O30T DA eaF eooNe) ?
Options :

7155058191, CE)-5IY

— =9
7155058192, © QT)-T0AT)

7155058193, ~CC)-T AT

7155058194, L 0% -T0F 0

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :
7155058195, Himachal Pradesh

7155058196. Uttarakhand

7155058197. Uttar Pradesh

7155058198, Madhya Pradesh

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
03T O3 Tazssiae) , BWORGBTALTT M TORBIWTIEHTI?

Options:
7155058195, COEIIVLFET TTHT

7155058196, Y03 T OTS

7155058197, Y030 T

7155058198, 20T 2T

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option among the following:

Petronas Tower 1s situated in:

Options :

7155058199. Paris

7155058200. Dubal

7155058201 . Kuala Lumpur

7155058202. New York

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
FPNIYNF ). IDO3RE 30,00, e3DA.

"BEERLSA L30T ) DeddEBeNG?
Options :
7155058199, #2500 A"

7155058200, O3y

7155058201, O > 00T T

7155058202, @OV TE

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options :
7155058203, Madhya Pradesh

7155058204, Odisha
7155058205. Karnataka

7155058206, Rajasthan

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FTRCOITE BlesAe Seg) 00 Tatssine). TOTY WINIR?
Options :

7155058203, 20T 2T

7155058204, 2,02 Ta)

7155058205, T oo f 3%

7155058206, 09259,

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :

7155058207, Louis I Kahn
7155058208. Mohse Safdi

7155058209. Fariborz Sahba

7155058210. Ricllard :"»“IE'}'E:I'

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRLEA® 30T (TN BledA,S) 20R, D), O33T?



Options :
7155058207, ROV [ F9TY

2 9
7155058208, 9T, A

@

7155058209, PP OWRLTE A0,

7155058210. D2F T3 E s nONT®

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options :

7155058211. A dead Bearer
7155058212. A Dumb Waiter
7155058213, A Jockey Boy

7155058214, A push upper

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9, L3903 (R, 3.07) AeNodl BRRITYTT,NE B, Ox,), FTENIHE:
Options:

7155058211, 2,070 BTE 2IODTT*



7155058212. 2,003) T30 o OEdT®

7155058213. 2,003 2308 2J2035°

7155058214, LOT3) TWR® €930, 0°

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are often referred as 'twin cities' of Odisha?

Options:

7155058215. Bhubaneshwar-Puri
7155058216. Puri-Cuttack
7155058217. Bhubaneshwar-Cuttack

7155058218. Bhubaneshwar-Rourkela

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FYNS 00YNe, wDAH 9% SNONTOR) AB2N Il AING?

Options:
7155058215, Goe3 00

7155058216, 2O-TEIT?



7155058217, WIS 0T ST

7155058218, LW 0-CRFTED

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the correct chronology of Human Civilizations in terms of their existence?

Options :
7155058219, Mesopotamia-Harappa-Egyptian-Chinese

7155058220, Mesopotamia-Egyptian-Harappa-Chinese
7155058221, Mesopotamia-Chinese-Harappa-Egyptian

7155058222, Egvptian-Mesopotamia-Harappa-Sumerian

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2] DINDTFING 923 B03 9x)N1% AD0OIINE TCIDTTN)

Options :
7155058219, PR E3PEeII03T-T0T 09, -S523e8 BI-23 (I ODT
7155058220, TR E3PEeII03T- 52323 BI-30009),,-23 (IO T

7155058221 F0RHE3ReII03T2-23CICONT)-THTete, - S323 e 0D



7155058222, ST BI-eDABEIRCeII03I0-50T@e),,-AIe0¢D 0,0

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :

7155058223. Shah Jahan
7155058224, Jahangir

7155058225. Akbar

7155058226, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BB B3I ITIT® DedIFATIT:
Options :

7155058223, JT0e 200

7155058224, 2353020 N(T"

7155058225, 9T,0°

7155058226, D030 SR LD® 80T



Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) Light throughout the
year’

Options :

7155058227. North
7155058228. South
7155058229. East

7155058230. West

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

38,80 9TFRRITE 0dees B8,36). BRE G B0 (1107 BnT) BeT,
FALFIOWSDIANTN (AN,

Options :
7155058227, Y030

7155058228, COTED

7155058229, S@a3E

7155058230, BT



Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :

7155058231, Raj Rewal

7155058232, Charles Correa

7155058233, Achyut Kanvinde

7155058234, Hafeez Contractor

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

#%,D03) 08 BAN,IRG "2eR®BO R 5 A03CH"R oAy, I¢) aiRT)?
Options :

7155058231, 0925 Oledaey”

7155058232, LBOETE BROE
7155058233, 28R 3 F) 00K

7155058234, 22 TwOEIYT0°



Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewari is a construction style popular predominantly in

Options :

7155058235. Coastal Areas

7155058236. Plains

7155058237, Mountainous Region

7155058238. Desert Areas

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2, - BaD 23y0d Jaderte FOodeN T BRODTITHH)
Options:

7155058235, B(0 FTHINF),

7155058236, e SIS W THINTE),

7155058237, 2363, T THBNFE),

7155058238, 20TI @) BTCINFE),

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options:

7155058239. Marble
7155058240, Granite
7155058241, Shale

7155058242, Sand Stone

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2363,- 7O, MY BOOINPE) shtern,=Zedmen eRodetNRIEE de3 odweym)?
Options :

7155058239, £33 3 A3 (FowEer)

5
7155058240, [N~5E3"

7155058241, T3

7155058242, POsOTF AU L°

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chandigarh 1s an example of which type of city planning.
Options :

7155058243. Radio Centric
7155058244, Grid-1ron
7155058245, Linear

7155058246, Organic

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WORNE) 0w )BEE SNT O3RN SO0 NG?
Options :

7155058243, DLEO0RC FLOLY 3

7155058244, MO T2 €9

7155058245, BEEIL0I

7155058246. F® &) ODED

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options :



7155058247, Those facing North
7155058248, 1 hose facing South
7155058249 1 hose facing East

7155058250, 1hose facing West

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

MAteRE ANG) 0T a3 TR(HNPR), Dl BRELBITIET 932,35
ARNG) )(FH 0F e NN TCHNY) 0hoeg)e)?

Options :
7155058247, Y03 0T TGN 2300 e300 NED

7155058248, Co0,ERT0 TTETT 2008 @l Ed0Ieda) %D
7155058249, TPIE TS TTEN a3 R TVeH ML)

7155058250, BALENTS T 230 TIVBTIEI YN

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options :

7155058251. B.V Doshi



7155058252, C-P Kukreja
7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" Do, 03 Pog@ma” (D0e)(;3) 3008 A0A_. BHBECDT,
L)V ANRY AT

Options :
7155058251, 22.20.T3ED

4o
7155058252, ~V-c0. BT

7155058253, D23 Taasc)®

7155058254, 2J20e3® @ E3fer?

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155058255, A-IL, B-1, C-IV, D-III

7155058256, A-L, B-IIL, C-IV, D-II

7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV. B-III, C-II., D-I



Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
We3, — 10 203 RE, - I1 23y, BRAODA.

28,1 88, - I

L |eox,or 7,083 78,3

1 [Becim Retdoie

I 2, .50 30

IV. [gpdaAcho

Fomt Jenthal esoh,NYe), FociRT evdiaah, ok, wwd:
Options:
7155058255. A-II, B-1, C-IV. D-III

7155058256. A-L, B-III, C-IV, D-II



7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV, B-III, C-II. D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIE-T I LISTII
o r_ﬁ
Al v ‘ﬁ [ |Tesla
B. II. |Ferrari
C. I1I. [Porsche
D. £&e || IV, |Toyota

Choose the correct answer from the options given below:
Options :
7155058259, A-IV. B-1, C-II. D-III

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-1II, B-II. C-I, D-IV



7155058262, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e, — 10 Bed R, - I1 93y, BAODA.

26,1 =6, 11
A Q = Loj Ll
ﬁ
B. II [Foed
——
c | S | mecae
D. i CeNoloviolkn

7 DefthEs e, Ye), mboliees eud daldal, esod, sled:
Options :

7155058259, A-IV, B-1, C-II. D-III

7155058260, A-1I, B-III. C-1, D-IV

7155058261, A-IIIL, B-II. C-1, D-IV

7155058262, A-IV, B-III, C-II, D-I



Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058263. Both Statement I and Statement II are correct

7155058264. Both Statement I and Statement IT are incorrect

7155058265. Statement I is correct but statement II is incorrect

7155058266. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
8 TYT UG BEFTNTRY, SRR,

BCDFL : )00 R LT0RE),. i, Satm@an, Betwesn dp@ennt, M), eshad, detttod
D@, T,RetwEesn eugodatNaeeng.

BEDF 1 : T BRI, 0, B0 JIRIRE), TR FFDAT Alyo; e970), NagAlFg SR00T DT80 Feltz08
womhaa, 30,30 AacRNEIR.

FER BePEnYR, Mebad, 39NS S0knve) ROCRE 03Tm, 0.

Options:



7155058263. mEEE | Eﬁ&@!gﬁ P || enDase ADodmnhal
7155058264, TEFT | eh3), DT 1| T e, Nad
7155058265, Z0FT | ADORNG 5030 eY'T 1| Bwme, NGS

7155058266. LR | Emﬁﬁﬂﬂ 230 @eRF | RDO3Rhc

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M8 |

Options:

7155058267.

7155058268.




<

7155058269.

<

7155058270.

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

000R BF9E). T, B Iried oo endo B InotheE. 3o BInve)
IR B, B3IV BREOODR, ANOREORITTNG 503,

ﬁJEll Qﬁ'é’Jﬁ%’:}

M8 ||

Options:

<

7155058267.

7155058268.



71550582609.

7155058270.

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options :

7155058271. 26

]
N

7155058272.



7155058273. 27

7155058274. 24

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33, 30e I Ry, JBRSNP TR e)?

7155058271. 26

]
N

7155058272.

7155058273. 27

7155058274. 24

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the odd one out:-

7,9, 25, 32,43, 359
Options :

7155058275. 59

7155058276. 32

]
N

7155058277.

7155058278. 9

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
%L BRI, TOTIEAND.

T, 25,3043, 59
Options
7155058275. 59

7155058276. 32

]
N

7155058277.

7155058278. 9

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058279. 45.6 meter
7155058280. 30 meter
7155058281, 30.4 meter

7155058282. 51.6 meter

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,0%) B33 TERRE) 15 DD 9B, 3O BB 23T (R, Herte
SOBIAE TR BB, T3, ADA) 4.2 (KT YRR, WYTE cex, ahdcensh
(AR B 3=, ADTR0R)) 3.3 cdXET* 3TN (3.2:0N0T
e, BT, FEBE 260, 3T R),? (ETTLE) )

Options :
7155058279, 43.6 2)ICEIT?
7155058280, 30 e)CEIT®

7155058281, 50.4 e)ICEIT?

7155058282, 51.6 c)ICEIT?

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options :
7155058283. & D Ué

7155058284. £ J DD HE2
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRE,0IE BEE BHBEED 2I02EI), FOWD oldAND.

|
|
SUCCESS |
|
|

Options :
7155058283. & 240D Ué

7155058284, U DH22

7155058285. SUCCESS



7155058286. SSECCUS

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :

7155058287. 0.7 km
7155058288. 7000 mm
7155058289. 7 km

7155058290. 70 meter

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2,00 IFOD ALeF 1:1000 €3NS, TFOHE). 2I0R 'A' WO )0 BT 59T 7 em
BDODBATT, D2seINODe ToT) TORER FIVREY,, ARY,?

Options :

7155058287 0.7 &.eJd€

7155058288, 7000 ¢J.)€

7155058289, 7 B.2J€



7155058290, 70 e))CE3T*

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :

7155058291. & meter * 4 meter
7155058292. &80 meter = 40 meter
7155058293. 8 centimeter * 4 centimeter

7155058294, 4 meter * 2 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B0 2 HIAD ey AT,N Z3eM0Fed) 80 eICEIT? x 40 IRESTTIFR, 1:100
ALE) FoheRNE. TMRT el (@0 eSS ¥R Mg wiad?

Options :
7155058291, 8 eddfEIT® x 4 JICEIT?

7155058292, 80 e)ICEIT® % 40 IICEITT

7155058293, 8 A0E3eNCEIT® x 4 A0EIINCEIT?



7155058294, 4 e)ICEIT® = 2 oDICEITT

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number in given series.

16, 33,63, 131, 261 4.....)
Options :
23

A

7155058295.
7155058296. 521
7155058297. 524

7155058298. 520

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRE3,0083 ATLIONE). FomoIwNTIES B083;0HT), FOBISLBAID.

16,33, 63,131,261 (.....)
Options :
7155058295. 523

7155058296. 521

7155058297. 524



7155058298. 520

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :

7155058299. KVCMA
7155058300. KWCNB
7155058301. KUCLA

7155058302. KVCNA

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2,003 A0FEF 0R0DE). ROMAN ), TQOCP 37 2TRT, R ITALY O3 .......

Options:
7155058299. KVCMA
7155058300. KWCNB

7155058301. KUCLA

7155058302. KVCNA



Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

(A) (B) (C) (D)

)X
B\ b | ?

Options :

7155058303. D

7155058304, C

7155058305. B

7155058306. A

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
e, e303,1FS). 89e) LT (23°F) IE). FORIWTE AT, 13w, &SOA.

- | X | X | O

W,
Al

Options:

B> O |[E2

7155058303. D

7155058304. C

7155058305. B

7155058306. A

Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058307.

7155058308.

71550583009.

7155058310.




Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3D 2333 WOW) WRDN SeLEIRT, 3RCTIYR). 230003 BT )0 2,
383 00es 003 T 33 NYe) , ©93;03 ARTNTIE DSHLTT (e, D Suetld)
23, FOWIRAND.

2

Options :

7155058307.

7155058308.

71550583009.




7155058310.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058311.

7155058312.




7155058313.

7155058314.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3, 337 W3RN O S0, 3RDRR). TRt 0w en3 T BInee)
3@9,N0023 3D JSeléiainh, FoBBRAND.

Options :

7155058311.



%

7155058312.

7155058313.

A

7155058314.

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT ), 23, ;NFT), BRODTITYTI?

Options:



7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

7155058319.

7155058320.



7155058321. "'-—
7155058322. IT @

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B3, 33T, OB LNHERN DTN, 03T WINFE). YT B,
B3, ©8BINRY,HE BELFTAYRITYT?

_

Options :

N

7155058319.

7155058320.



7155058321. “‘*-
7155058322, IJ—_\_KI S

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058323.



7155058324. ]

7155058325. -

7155058326.

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B3, 337 BALeIN 3D SRETR, 3ROFTR). 03T BINF) O
SR, AT 03T 133jx), FOBIGRAND.

Options :

7155058323.

7155058324.

7155058325.



7155058326. .

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2D A3l (0 7°) MTH3) BWRRE 2306050 DE,)0R BRI,
Settmen, ADA3RNTIE OEIT (3N, D@, ) FORI llD.

AN AR

A B C D
Options :

7155058327. D
7155058328. A
7155058329. B

7155058330. C

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded in a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.
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Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

I

/L) [/
AA

Options :



7155058335.

7155058336.

7155058337.

7155058338.

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:
7155058335.
7155058336.
7155058337.

7155058338.




Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.
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Options :

7155058339.

7155058340.

7155058341.



7155058342.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
03, 2835y RN 3-D (3, 3T, weedR BB, eIfE AT
A0CHNT S, TOmIRAND.

8

>

/
Options :

7155058339.



7155058340.

7155058341.

7155058342.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058343.

7155058344.

7155058345.



7155058346.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR, WEODOT et ATeR, FPNT 303),1FE). 2A,eIx ADGIRATES 3-D
20 1 (A3Ce) e3DA.
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7155058343.

L L L
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Options :



7155058344.

7155058345.

7155058346.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.
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[ e [ .

A B C D
Options:

7155058347.
7155058348.
N
7155058349.
%
7155058350.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A B C D
Options :
N
7155058347.
7155058348.
N
7155058349.
Z
7155058350.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

x|
Options :
7155058351.
7155058352.
7155058353.

7155058354.



Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X 1} e930me0e0eN Teéd,00e3 231 2eanN0Ies BaELd L0WWR,
FORIRAND.

Options :

7155058351.

7155058352.
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7155058353.

7155058354, g&

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

ik




7155058355.

7155058356.

7155058357.

>/

7155058358.

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Adeaohal, DeerTledaen cftttha egolh,nived), Abolwntisd eudCalal, esDA.
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Options :
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7155058355. K '
7155058356.
7155058357.
7155058358.

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?
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Options :

7155058359. B

7155058360. A

7155058361. D

7155058362, C

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



DY oD, M) BRRE FeeN0DE) wHEeFenns whd), FANHE) 30T
Ton TPONE) T0, TATONEINE. T TeFad :hBIob, BTN
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Options :

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.l el :33nY Aadeichd), mcinhdia)m=y, Fomadtaclad.
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Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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500 + 7
5 350+ /
= 300+ 7
g 250+ / // / /
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100 + /
50 +
mm Y >
O L VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058367, B and D only

7155058368, A and B only

7155058369, A and C only

7155058370, B. C and D only

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
7155058367, B 2303, D 23303

7155058368, A 2032, B @003,
7155058369, A #03), C 3303,

7155058370, B> C 232, D ed0 3,
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Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 50

715505162
4

Offline
Mandatory
2

2

100

Yes

0

1
715505162
No

null



Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,

Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50



BN I, BHEOA TR Belena 2333, T3AD. 9TT,N Jad),
e305,00 FF),, 03, WHBE). DBAE 30T, WPA.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

BRAURT F;FrTE). FToAME 20 2D €33, 800R), WFATA0R) v, £305),08)
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260, NP0 wea, 1% D.



